Señor Martínez
SMATH 8 - 2016
St. Brendan School


SMATH8 - Unidad 1 




Nombre: ____________________________________
El Teorema De Pitágoras - V1
Redondea = Rounded

De Acuerdo = According to

Triángulo Rectángulo = Right Triangle

Selección Múltiple
Identifica la respuesta más apropiada
____
1.
¿Cuál es el tamaño de la hipotenusa, redondeada a 1 decimal?
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	a.
	20.0 m
	b.
	14.1 m
	c.
	17.3 m
	d.
	7.1 m


____
2.
¿Cuál es el tamaño del lado l, redondeada a 1 decimal?
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	a.
	256.0
	b.
	16.5
	c.
	16.0
	d.
	15.5


____
3.
¿Cuál es el valor de la linea diagonal d, redondeada a 1 decimal?

HINT: The square can be split into two right triangles. Choose one of them to work with, and 

it will be clear to you that d belongs to the triangle you chose.
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	a.
	9 m
	b.
	 162 m
	c.
	18 m
	d.
	12.7 m




____
4.
De acuerdo con el Teorema de Pitágoras, y utilizando el área de los cuadrados, ¿Cuál de los triángulos es un triángulo rectángulo? 
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	a.
	Triangle A
	b.
	Triangle B
	c.
	Triangle C
	d.
	Triangle D




____
5.
El cuadrado de área más grande le pertenece a la hipotenusa. En éste triángulo rectángulo, ¿Cuál es el area del cuadrado más pequeño?
[image: image5.emf]?

25

49


	a.
	74 cm2   
	b.
	2 cm2 
	c.
	24 cm2 
	d.
	5 cm2 


____
6.
¿Cuál de los siguientes triples numéricos NO forma un triángulo rectángulo (NO es un triple Pitagórico)? 



In other words, which of the following triplets of numbers is NOT a Pythagorean triplet?

	a.
	5 cm, 10 cm, 15 cm
	c.
	1.5 mm, 2 mm, 2.5 mm

	b.
	9 m, 12 m, 15 m
	d.
	4 cm, 7.5 cm, 8.5 cm


Problema

7.
¿Cuáles de los siguientes triples numéricos son triples Pitagóricos? Escribe todo tu trabajo.


OJO: ¡Hay más que una respuesta!

Which sets of numbers are Pythagorean triples? Show how you know.

(There is more than 1 answer)

a)
5, 12, 13

b)
26, 36, 45

c)
24, 70, 84

d)
57, 176, 185
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Answer Section
MULTIPLE CHOICE

1.
ANS:
B
PTS:
1
DIF:
Easy
REF:
1.5 The Pythagorean Theorem

LOC:
8.N1 | 8.SS1
TOP:
Number | Shape and Space (Measurement)


KEY:
Conceptual Understanding

2.
ANS:
D
PTS:
1
DIF:
Easy
REF:
1.5 The Pythagorean Theorem

LOC:
8.N1 | 8.SS1
TOP:
Number | Shape and Space (Measurement)


KEY:
Conceptual Understanding

3.
ANS:
D
PTS:
1
DIF:
Easy
REF:
1.5 The Pythagorean Theorem

LOC:
8.N1 | 8.SS1
TOP:
Number | Shape and Space (Measurement)


KEY:
Conceptual Understanding

4.
ANS:
D
PTS:
1
DIF:
Easy


REF:
1.6 Exploring the Pythagorean Theorem

LOC:
8.SS1

TOP:
Shape and Space (Measurement)
KEY:
Conceptual Understanding

5.
ANS:
C
PTS:
1
DIF:
Easy


REF:
1.6 Exploring the Pythagorean Theorem

LOC:
8.SS1

TOP:
Shape and Space (Measurement)
KEY:
Conceptual Understanding

6.
ANS:
A
PTS:
1
DIF:
Easy


REF:
1.6 Exploring the Pythagorean Theorem

LOC:
8.SS1

TOP:
Shape and Space (Measurement)
KEY:
Conceptual Understanding
PROBLEM

7.
ANS:


a)

Check:

Does 52 + 122 = 132?

L.S. = 52 + 122
R.S. = 132


= 25 + 144
= 169


= 169

Since 169 = 169, 5-12-13 is a Pythagorean triple.

b)

Check:

Does 262 + 362 = 452?

L.S. = 262 + 362
R.S. = 452


= 676 + 1296
= 2025


= 1972

Since 1972 [image: image6.wmf] 2025, 26-36-45 is not a Pythagorean triple.

c)

Check:

Does 242 + 702 = 842?

L.S. = 242 + 702
R.S. = 842


= 576 + 4900
= 7056


= 5476

Since 5476 [image: image7.wmf] 7056, 24-70-84 is not a Pythagorean triple.

d)

Check:

Does 572 + 1762 = 1852?

L.S. = 572 + 1762
R.S. = 1852


= 3249 + 30 976
= 34 225


= 34 225

Since 34 225 = 34 225, 57-176-185 is a Pythagorean triple.
PTS:
1
DIF:
Difficult
REF:
1.6 Exploring the Pythagorean Theorem

LOC:
8.SS1
TOP:
Shape and Space (Measurement)


KEY:
Communication | Problem-solving Skills


